


   The Quaternion Slide Rule
	      a0                 
	      a1
	      a2
	      a3


Note: To multiply, the ai’s must be negated appropriately.


         ( Remember that in mod 7 )
	     -1 = 6
	     -2 = 5
	     -3 = 4

	     -6 = 1
	     -5 = 2
	     -4 = 3




Quaternion Multiplication:
c = a·b    (mod 7)


(a-First Number) x (b-Second Number)



(a0 + a1e1 + a2e2 + a3e3) · (b0 + b1e1 + b2e2 + b3e3)


--------------------------------------------------------------

Below is an outline for multiplying a times b. Points on the vectorized Fano Line guide one to choosing the corresponding correct sign and the correct corresponding imaginary unit. The next page organizes the 4 components of the computation of the product, c. The tables are arranged so that if one performs multiplication in vertical pairs of a and b and the 4 products are summed, then each sum is a component of c in the proper sequence. I.e., the top left quarter of the next page one yields the first component of c, while the top right quarter of it provides the second component of c. The bottom left quarter furnishes the third component of the product c, while the bottom right quarter of this page generates the last component of c. 
       



    (Second Number)
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Quaternion Multiplication:
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      The Product:  C =
	      c0                 
	      c1
	      c2
	      c3


